Ether was proved based on the Sagnac effect
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Abstract: In fact, the cther can be proven from the deformation of the Sagnac effect formula, but
relativity gives different explanations, so the author did a new experiment "The Discovery of a New
Photoelectric Medium Based on Experiments" published in the Thermodynamics and Energy section of

this website.
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It is known that the number of stripe moves in the Sagnac effect is proportional to the
product of the angular velocity of the interferometer and the area enclosed by the
loop.So
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The “V” is the speed of the medium, and the“V,” 1is the speed of the medium
relative to the ether. That is, the relative motion speed of the ether is proportional to
the speed of the medium.

But in the case that the length of the medium is fixed, if the length of the medium is
variable, then the author thinks that the driving speed should be related to the length
of the medium.

The specific relationship is as follows
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The “Vq¢” is the drag speed. In the medium, the speed of ether in the medium will also
loss. The “ 7 ” is the transmittance, The “no” isThe refractive index of the medium,
because part of the ether collides with the moving medium, and the velocity of the
penetrating medium is proportional to the transmittance. The “Q” is the speed loss
factor, indicating the loss of the ether speed in the medium. Q Positive correlation

with the medium speed and length, approximate thought at low speed, so “k,” is the



loss coefficient of a certain medium.
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The atmosphere length / can be approximated as infinite relative to the Earth's
circumference. We can also understand in this way when / —0, and, according

to AP =y, pv°l , the infinite pressure loss of the ether fluid in the medium eventually

leads to the relative speed of the ether being 0.
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